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PART - A

GENERAL INTELLIGENCE & REASONING

Directions : In questions no. 1to 4, select the related word/
letter/ number from the given alternatives.

1. 09:81::04:7
(A) 16 (B) 25 () 36 (O} 49
(20  Teacher:Student::Lawyer:?
(A) Customer (B) Consumer
(C) Client (D} Claimant
3 Mango : Fruit : : Jasmin: ?
(A) Trees (B) Fragrance
(&) Flower (D) Rose
14 e W
(#  ABC:RQP::CBA:?
() QRP  (B) PRQ (@ PQR (D) RPQ
4
Directions : In questions no. 5 to 7 select the one wh u:lﬁs\\‘k
different from other three alternatives. Q
5. (A) ADG] (B) MPSV N
h-} (C) EHIN (D) LORU @
b. (A} December
(C) February o {D}
3
7. (A) 18-26 1) - 37
Q) 54762 85
8. Wh:ch ong-el T\?ﬁwen responses would be a

me rder of the following in ascending
ord

(2) AHantic

(4) Bay of Bengal.
(A1), (4),3), 2 (B) (2.5 3).(1)
O 3062 O @600

'E.TE'I'I
II'l

Directions : In questions no. 9 and 10, a seri
with one term missing. Choose the n:r.}ma:tai it

the given ones that will complete the series. @

9, BCGH, LM, _2 .

(B) RS

(A) PQ ( D) Op
10. 4,8, 16,32, ,‘IZB

(%) 64 %12 D) 120
11, Two stat e given followed by two

Conclusi ou have to consider the

stateméh| venif it seems to be at variance

from “known facts. You are to decide

which o ven conclusion can definitely be

e given staternent. Indicate your

All pens are pencils,
No pencil is an eraser.
L Noeraserisa pemn.
IL Mo penis an eraser.

} Only conclusion I follows/

Only conclusion I1 follows

(C) Bothconclusions I and 11 follow
(D) Meither conclusion Inor conclusion I1 follows

lusions:

S

/

12. Tina drives 45 kms towards East, turns right and

drives 65 kms, then turns left and drives 33 kms. In
which direction is she facing now ?

(A) East (B) North
(C) West (D) Soutk”

13.  Select the correct combination of mathematical signs

to replace * signs and to balance the following
equation:
215 T+a%g
(A) + + =
Q =

A Fa

s J

@ +
Dy =

o =
= +
14.

From the given alternatives select the word which
cannot be formed using the letters of the given word.

“TERRORISM”
(A) MIRROR (Bf ERROR
(C) MORE D) ROAR

SPACE FOR ROUGH WORK
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L

P aﬁ,r
Some pquations are solved on the of a certain
system. Find the correct answer £gt the unsolved

equation on that basis.
9+742=725, 6+9+0=906, B+4+3=7
(A) 815  (B) 384 (O 438 (D) 834

Maya said, “My mother is the sister of Ranjeet’s
brother”. What is Ranjeet’s relation with Maya ?
(A) Cousin (B) Maternal uncle

(C) Uncle (D} Brother-in Law

Five girls are sitting in a row. Sudha is sitting next
to Padma but not next to Tapti. Krishna is sitting
nextto Rama who is sitting on the extreme left. Tapti
is sitting on the extreme right. No body is sitting
between Padma and Krishna, Who is sitting in the
middle?

(A) Krishna (8) Padma®
(©) Sudha (D) Tapti
Select the missing number from the given
responses :
7 14 19
6 12 17
5 10 ?
(A) 20 B 18 & 15

[n a certain code DELIBERATION is
NOITAREBILED how would INFI
written ?
(A) ADONAEMI  (B) REBILEDNA
(@ YTIMRIFNI ()

If a mirror is placed on the 1i

the answer figures is the righiin J
Question figure

&

hich of
the given

(D)

2,

Which answer figure will complete the pattern in
the question figure ?

Question figure

is represented by only one set of numbers as
#n in any one of the alternatives. The sets of
umbers given in the alternatives are represented

'{fggtwu classes of alphabets as in two matrices given

below. The columns and rows of Matrix 1 are
numbered from 1 to 5 and that of Matrix II are
numbered from 610 10. A letter from these matrices
can be represented first by its row and next by its
column, e.g., ‘1" can be represented by 14, 33, 42 etc,
and ‘M’ can be represented by 66, 79, 98 etc.
Similarly, vou have to identify the set for the word
given below

PINK
MATRIX - 1 MATRIX - I
ij2[3]4 6l7]8]9
1 i@l KIL b [M|NIO]P
2l6lK|I1]1 7|PIOIN[M
3[1IM|L|K s|N[M|P]O
sK[LIWm] ) 9O P {M[N]
sTK[I]L]]) 0[P {MJO|N
(A) 99.11,69, 22 (B) 69,99,11,54

(C) 69,11, 99, 41 (D) 6%, 78,51, 43

SPACE FOR ROUGH WORK



www.eenadupratibha.net

Identify the diagram that best represents the
relationship among classes given below .

Parents, Mothers, Fathers
@) ® QD p

© (o o ©)
&

From the given answer figures, select the one in
which the question figure is hidden/embedded ?

Cuestion figure

]
K | ﬂ
= 0

Answer figures

(©) (2N

1TBIEIL

A piece of paper is folded and cutas sﬁhwﬂ”ﬁelaw
in the question figures. Frony theégiven answer
figures, indicate how it will appéar when opened ?

Question figures

)
™~
o i

Answer fifmres

24.

FOR VISUALLY HANDICAPIED

CANDIDATES ONLY

Maresh is taller than Prakash but shorter than
Mukesh. Rajan is taller than Suresh but not as tall
as Prakash. Whuamﬂngﬂiemlsﬁushm*tﬁt? '
(A) Rajan (B) Prakash :

(© Mukesh (D) Slmtsh_

Given below are capital letters in thE fll"St line and
numbers in the second ling, Nun'lbets and letters
are code for each ulher Chuoﬁ: ﬂ'lj. correct code for
given letters:

H'B.HHR

V P D I U
2 9 45/ /6 1 0 7
RBnuFﬂ-fﬁ
&) 1874980/ (B 184769

D) 187564

(© /181796

/ There are 120 families in a small area. 20 percent of
__Hhesefamilies own a car each. 50 percent of the
_ families own a motor cycle each. How many families
“.ipt that area do not own any vehicle ?

S JAY 16

(B) 24 © 36 D) 44

Arrange the following words as per order in the
dictionary :

(1) PARTICULAR
(3) PARTICLE

(2) PARTICIPATION
(4) PARTITION

(B) (2), (3).(1). (%)
@) (3) () @), (1)

(A) (3)(2). (1), (4)
(© (2.1 ) (4)

Which one set of letters when sequentially placed at
the gaps in the given letter series shall complete it ?

d__td_s_d_st

(A) ustuu (B) utsut

(©) usutu (D) usust

Find out the set among the four sets which is like the
" given set of number ?

Given set : (108, 36, 12)

(A) 96,24, 8 (B) 72,24, 11

Q) 27,9,3 (D) 18,6,3

SPACE FOR ROUGH WORK
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PART - B
NUMERICAL APTITUDE

/5.  Inastock clearance sale, a shoe company announces
20% discount. If the discounted price is T 800, the

original price is :
(A) T 900 (B) T100
(C) T 4000 (D) T 1000

27.  Rekha purchased a scooter for T 20,000 and sold it

for . 22, 000. The percentage of profitis:

@ 10%

Q 15%

B) 20%

0) 12%

Raghubir after travelling 84 km, found that if he
travelled 5 km an hour more, he would take 5 hr. |
less, he actually travelled at a rate of : #;n

f"x\‘m

(&) 5km/hour (B} 6km/hour [

(&7 7km/hour (0) 10km/hour * \:“

29,  The cost price of a mfﬁggw,ﬂm. The
shopkeeper offers a discovintof itand loses
10%. The marked price is:

977 25,200 27,000

. O T2, ‘"‘“x\jk{m T 31,500
\:-h
/AT

30. &ﬁm digits when divided by 2,5,9, 11

ﬁ\ra reﬂ'iamdeﬂ in each case. The numberis:

*--Mf@g Jop” () 997
(© 981 D) 983

\®

31. T&ua- fourth proportional of the numbers ‘}iMb 13

(%) 20 B 24 ;:: J
© 28 ,/ >7
\

Theaveragt o \uﬁw&ﬂ marks. If the average
of frst i mﬁim 1559 marks and that of the last six

is 62 rqa,;' thh%lu! sixth result contains :

eﬂ

l”

'\,_

B 61 marks 1"

(D) 66 marks

Hundred apples were lmubhl. for 2 300, Out of these
four were rotten and the rest were sold at ¥ 50 per
dozen. Then the net profitis:

(A) T30 B 125

(Q T150 (D) T100

A candoa piece of work in 10 days and Bcan do the
same piece of work in 20 days. They start the work
together, but after 5 days A leaves. B will do the

) remaining piece of work in:
(& 6 days (B) 8days
(O 5days () 10 days

SPACE FOR ROUGH WORK
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If the compound interest on a certain sum for 2 years
at 4% is T 102, what would be the simple interest at

the same rate for two years ?
(A) 100 B) 98
() 75 (D) 100.50

The cost price of 50 cups is equal to the sale price of
40 cups. The percentage of profit in the transaction
is : :

(&) 15 % @ 20%

Q) 5% D) 30 %

A shopkeeper purchases 10 pieces of certain items
for ¥ 8,00 and sells them at 8 pieces for 10.00. The
profit percentage of the shopkeeperis:

(@& 25.50 % B 26.25% 7
oy, ,.l'r ‘\‘"
{Q) 5650 % D 56.25% & H;:-H]
I.’i:mh Ih.-'
- '.x )
/ HM.:. o

The ratio of land and water in tha,. nhﬁk' n;aﬂ-_i 15
1: 2. If this ratio in the northern htuu;:"lhﬁrr“hL 2:3
then the ratio of land and wﬁuﬂm e southern
hemisphere is : (QO/n
(A) 3:4
(C) 4:7

f

.I
r;-.k‘
-l-
i

A -auq,}w;ua pu‘t at simple inlerest at a certain rate for
4 yedrs, Had itheen put at 3% higher rate it would
hﬂ"-"ﬂ'[etchéff T 1440 more. Find the sum.

u r: 1,000 (B) 12,000

() T 14,400 D) T 11,000

40.

(3

_@

P, _IJ
"'a
e v
| §

—

. alonie can do it in § days
“wtlays. With the help of C they finish it in 4 days.

The average wage of workers in a factory is ¥ 6,000.
There are 12 officers having an average wage of
¥ 14,000, while the average wage of the remaining
persons is T 5,600, the number of the workezsis that

factory is: ‘x\%u
N
(A) 240 (B) 230 I'A-'; _,'-.‘.
Fi Ny
Pl ~
Q 242 ) 252 G NN/
Y 4
(. “--\ O

The base of right ﬁpm‘ﬁx Lfaneq.ulamral triangle
with a side of 7 m ,and ﬂl}efght 15 24m. Find its

volume, Va g 0 V4
(A) 519:113* ““‘* o [B] 519 m?
.\..‘H‘L .;I."'
@ Eﬂ'hn Y (D) 1018 m?
/O

I
I ¥
L NI

i v i
' L -
Ny | s
r 1
l'. F

Aamﬂl undertake to de a piece of work for €720, A
and B alone can doitin 12

TT_ﬁn the share of C in Rupees is:

) 240
D) 300

(A) 360

(© 120

@ Evaluate J 129 + J216 + 68 + 169

B 12
D) 15

(A) 9

© 13

. Theside of a square increases by 10%, then find, by

what percent , does its area increase ?
(A) 19 B} 21

©Q 27 D) 30

SPACE FOR ROUGH WORK
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An article listed at T 26,580 is sold at a discount of
10%. Due to festival season the shopkeeper allows
a further discountof 5%. Find the selling price of
the article.

(A) T 22,725.90

(O ¥ 22,750.00

(B) 2 23,922.00
(D) T 22,725.00

A mixture of 20 kg, of spirit and water contains 10%
water. After adding a certain amount of water , the
weight of the new mixture is 25 kg. What is the
percentage of water in the new mixture ?

4 125% B 15%
) 18% (D) 28 %

To raise the height of a low land 48 m long and
31.5 m broad to 6.5 dm , a ditch 27 m long and
18.2m broad was dug in a side plot, the depth of the
ditch will be :

(A) 1m

() Sm

(B) 2m
(D) 7m

LY

1 AN
If a man covers m'i:.' km in 3 hrs., 1hx=?_:_‘{+51.3n¢_-._:ﬂ:

N TN,

covered by him in 5 hrs.is; . Y,
(A) 18km (B) 17km INSL7
() 16km ) 15km [ S’

The following pie-chart shows this pt,l‘l:t"l'lf.agt_ of
literate and illiterate males- "m,t Ium&’les in a city
having a population 2,50 {li'!ili}

'-n—_ -i-'—l-\. e

W 'ull‘!ﬂ‘itu- female 8%
: . I:|lEratE male 35%

= i

1_, Militerate male 24%

D Literate female 33%

Whitis ﬂ'lu‘d ifferenice between the number of literate
pialhs anditerate females ?

1,500
D) 500

Percentage share of goods transported through Air, Road,
Rail and Sea in five countries : India, China, Korea, Japan,
Iran.

Given the total weight of goods I:anap-arted m the 5
countries in a year are : N

1086, 3140, 1855, 2360 and 1465 Hmusmﬁr.{ hmnes
respectively. P N

S—— - T

120 I . Sea D Rail H.ll I{D@f} E] Air
bl | - -' M
B0 | -
60 = E i
S e i
10 ) = |
21 FANN |
0 —:.:'IL' e K| e
i g iw\WChina Korea Japan Tan |

— —

Stmijl' lhr.::graph and answer question no. 50.

A0, -th: h country transported the maximum quantity

. 8f goods by road ?
(&) China
Il{:'] lran

(B} Korea
(D) Japan

FOR VISUALLY HANDICAPPED

CANDIDATES ONLY

49.  The average of first four numbers and the last four
numbers out of five number. are 26 and 25
respectively. The difference of first and fifth number

i5
(A) 21 By 16
Q 4 D) 1

50.  The price of an article is cut by 10%. To restore it to
the former value the new price must be increased

by :
9 g
(A) 9% B 10%
=y Ik ] i1y
[LJI ll e {r_]‘} E] a Lt

SPACE FOR ROUGH WORK
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PART - C
GENERAL ENGLISH
Directions : In Questions No. 51 to 60, some parts of the | 58. Theold mapwas / overwhelmed
sentences have errors and some are correct. Find out which (A) ;—Q\H\"ﬂ;
part of a sentence has an error and blacken the £his N (O ff _.fv"
oval [@®] corresponding to the appropriate letter (A, B, C). the success of his only son. © / {—E-]EIFEEL \ ﬁjj
If a sentence is free from error, blacken the oval A \“‘h
correspanding to (D) in the Answer Sheet. A “x_::} f,?
59.  Thehockey match / betw ' /
h i i
51.  Although we reached his house in time / @ (Y )
(A) was much exciting, / Nogtpr |
© o VoS
he was left/ for the airport. / No exror. “‘\\H;} /
®) © (D) (
60, n‘}fﬁ than n'ur:.e / Noerror.
TG (D)
52. Thetwolast /chapters of the book/ "a,.rw ™ ‘-
() (B) L. JL
are very interesting. / Nogrror. Directions ; Iy s Mo, 61 to 70, sentences are given
Q) () with hja.t;u tfl bﬁi!llln:d in with an appropriate word(s).
Fﬂunﬂmﬂn gs are suggested for each question. Choose
theaqr altemauve out of the four and indicate it by
53. lhaveseen /thatfilm last year/ ﬂh[achgmgﬂw appropriate oval | & | in the Answer Sheet,
() (B) 4.
- N
but 1 do not remember its story. / Noertor. -f{_&fﬁf\l hough this blanket is not made of wool, it has a
< ®) -"" “‘mx“‘-:ﬁ ) texture.
e, “7‘“’ (&) wool (B) woollen
54, Mahatma Gn';ih}igfﬁﬁiﬂgﬂf .f:r, ;t“*::’; Q) woully Iy wookish
:. H':l I, :_.-:
aman of principles /all throu :
(B) [ci,'l/“ k\\\\ (D) 62. Et{:;gelnf T‘:dguemﬁ ate much at the party because the
ooke i
.l" [y ,.-'" l“'| .
| q:’ ) / N A habl unauthorized
55 Rustam / Y, (A) unapproachable (B o
(A) fﬂh\v{” :\ l‘:) (D) (©) unceremonious (D)) unappetizing
-
r:{\_' ) .
56.  Alotof mongy w 63. Trust god and do the right.
’“ff'ﬂ' Y IB {A) in (B) with
e of1 ./ Mo Errtor,
\ 4 (C) at ) by
SC} (D)
“ 64. The accused was as the counsel could
to my party tonorrow/ | T —
/, ’__Eﬁm / (B) E{%‘:ﬁ' not produce a witness,
3 Igfcr (A) letout (B) letoff
(D) (O leton (D) let aside

(S-2013/Pageld
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65. ___ thousand species of butterflies have
beenidentified.
(A" As many as (B) Asmany

| (&) Asmuch as () Much as

j66. He_ his mistake.
{A) understood ﬁmlwd
() finished (@ realised

|

| 67.  You will not be allowed to enter you
have an entry pass.
(A) i BT unless
Q) when (D) but

:. 68, It has been years since | last him.
(Ay had met (B) met
Q) meet (D) have met

| 9. These murals are typical TamilNadu.
©) with @t

70.  The flight will land ___ Six this evenin
(A) in (B) on

- ©) upon

| Directions : In Questions No. 71 to 73, 4™k 0 four

 alternatives, choose the ane which ; ses the

Mﬂﬂmﬁuﬂwudmdmﬂ@mm

CS-2013/Pagel5

Directions : In Questions No. 74 to 76, choose the word
opposite in meaning to the given word and mark it in the
Answer Sheet.

75. Stingy
(A Extravagant icient
(C) Spiteful -minded

¥ v{pms - estions No. 77 to 79, four alternatives are
. & Idiom ', Phrase underlined in expresses the
AR Af the Idiom \, Phrase and mark it in the Answer

{A) tohave a hot bath
(B} tokeepwarm
&Y togetinto trouble
) toget drowned

awild - goose chase
(A} run after a bird
B afruitful search
(O long pursuit

..ﬂ"'ﬁ'uitlﬁspuﬁuit
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Directions : In Questions MNo. 80 to 84, a sentence/ a part
of the sentence is underlined. Below are given alternatives
to the underlined part at {A) (B), (C) which may improwve
the sentence, Choose the correct alternative. In case no
improvement is needed your answer is (D). Mark your
answer in the Answer Sheet.

80. Stop laking bribe lest vou are caught
(A) might be caught
(B} will be caught

(C) may becaught
(D) Noimprovement

81. Someone has tempered with my lock
(A} trampled
(B} tampered
() tethered

(D) Noimprovement

BZ. Some people has all the luck even when they did |

not tried verv h

(A) Some people has all the luck even whun thﬂ '-

donot try very hard.

(B) Some people have all the luck evert -.J}hem;he-}r.

do not tried very hard. Sty

(C} Some people have all the luck of e '.\‘hm l'hm
donot try very hard. \

(D) Noimprovement. h ~ J

83.  Alotof effort wentintg g;: ]ﬁ_l;mimgggg_
(A) The data went m;nm[lﬂcljhg a lot of effort.
(B) Thecollecting a:h:rL nl" effort went into data.,
() Went iqﬁ'&.}qt ol f..'lj"fnrt collecting the data.
D) No _ipﬁ’pr'ia-:u;.-_m.':ht.

84, hmhu doctor attempts were made.
" [,N Thiedoctor were made attemipts to contact.
{ {[:‘.J The doctor were atternpts made to contact.
- @l .ﬁﬂemp’iﬁ were made to contact the doctor.

(D) Noimprovement.

(CS-2013/Pagelb

Directions : In Questions No. 85 to 89, out of the four ;
alternatives, choose the one which can be substituted for
the given words,/ sentences and indicate it by blackening
the appropriate oval [ @ ] in the Answer Sheet.

85. A decorativering of flowers and leavet—
(A) Wreathe (B} Wreath~. " o
(C) Wreeth ) Wrath 2, 7

86. Ammmh:wlreputahnn ~
fﬂl Lﬂ:al:mu.'s
[D} Mischievous

(A) Notorious /™
() Lﬂbﬁl‘iﬂus

]

87. An:n&:‘rqﬂhnw*-a’mml:
(A) Erlfﬂph (B) Dirge
:‘q'[-'y{e (D) Cenotaph

HE. "8, public institution for the care and protection of
. “chiltiren without parents.

. _?‘{A} Conservatory

| EB} Orphanage

: (C) Academy
(D) Asylum

89.  Aheavy continuous fall of rain
(A) Drizzle (B) Blizzard
() Downpour D) Avalanche

Directions : In Questions No. 90 to 95, four words are given
in each question, out of which only one word is correctly
spelt. Find the correctly spelt word and mark your answer
in the Answer Sheet.

9.  (A) Occassion

(O Occation

(B) Occasion
[ Ocassion

21. (A) Abducter
() Abdactor

(B) Abductor
(D) Abductar

010 KG 2
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N

92 ﬁrﬂﬁm () Disautyoss _ _ are the olher activities of Petes Pan, the
' ' ape-less boy who can fly 7

mmu:&nﬂmﬂuma,sﬁ
ml unmum . S
}rﬂm-hhw " ._i. jﬂmdhm
lngunﬂllm i I

hiv ﬂ-t-nl _ o
lidﬂﬁﬂ'ﬂm I sl LI “W-M_ﬂnﬂurﬂuuh

(A) body of a fisdy and tall of 8 spanit

.Ihl

m body ﬁfi-mm&ﬁﬂﬂnifmid
3 bisikyof a woesan and tail of a fish

®  body of spaniel and tail of  fish

sty play Peter Pan was performed in
(LR LY
1912

0 EG 2



101.

102.

103,

104,

105.

106.

107.

www.eenadupratibha.net

PART - D
GENERAL AWARENESS
Metecrology is the science of : 108. Magnetic keepers are used to proteck. magne!s
(A) Weather (B) Mateors from : | Y
(O Metals (D) Earthquakes (A) Earth’s magnetic field o
(B) effectof other magnets .
Gandhi wanted to realise “truth’ through : {C) self-demagnetization | ~

{A) Ahimsa (Non-violence)
(B) Dharma (Religion)
(C} Karma (Service)

(D) Dhyana (Meditation)

Taiga means:

(4) Decidious foresis
(B) Coniferous forests
(C) Grass lands

i) Deserts

Density of population shows :
{A) Land capital ratio
(B} Land product ratio

(O3 Land labour ratio x.
iDj Mﬂ.“ Ia.rld. mijﬂ ._.-' .~ ¢ " H-._'.-.

The term PC means : -
{4) Private Computer ¥ J
(B} Personal Calculator _ A0
(C) Professional Calculator \. S

(D) Persoral Computer 7 s 74

.\.
-,

The Indian Judiciary -sﬁeaﬁedﬂy :

(A) Thepresident '

(B) The primer rrrh'ustﬂh

&y The supﬁ*mhmlﬂ

(D) The E:.Hr]m‘rmzﬂ'

f‘mi,mm.m h.'gving open circulatory system
pwml G4

-’.Jm tnelenterun
/S “spongocoel
{C} pseudocoel

(D) haemocoel

CS-2013/ Pageld

(D) demagnetization due to he:éﬁqg‘; ;

The maximum time a p&sﬁﬁ;iﬁ'mminue to be the
minister of the State’ Goverament without being a
member the 31:1’&' IE'.,'I‘SIH{LII.‘E

(A) One )H."a;[ LB} Three months

) Six ml;;rntha .3/ (D) No time limit

N -l':«._.

109,

Gr-:md.amqﬂh: product is a measure of :

{A‘,\- -5. cuut‘ﬂr}r s international economic activities

110.

(B (5. ‘r__-dunl:ry’ s domestic economic activiiles
“._ (). A country's financial position
iy {'DE'_I A country’s industrial output

L Wy
oy

'!'H‘* Eimw refersto;
(A) Saltwater
(C) Purewater

(B) Sweetwater
(D} Starch waler

112, In which year did Gandhiji undertake the famous

Dandi March ?

(A) 1920 (B) 1930 () 1925 (D) 1935

113. Who has been called the Napolean of India 7
(A) Chandragupta (B) Vikramaditya
{O) Samudragupta (D) Skandagupta
114. In which year Colombia hosted the NAM summit:
(A) 1994 (B) 1995 (O 1996 ([0 1997

115. The Central Food Technological Research Institute

(CFTRI) islocated at :
(A) Mysore
(&) Nagpur

(B) Dehradun
(D) Ernakulam

M0 KG 2



116.

117.

118.

119.

121.

122,
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Which is not an anasthetic agent in surgical
operations :

(A) Chloroform (B) Ether

(O Nitrous oxide (D} Acetone

The Indian Institute of science is located at :

(A) Chennai (B) Bangalore

(C) Kolkata (D) Mumbai

Insulin :

(A) increases blood sugar
(B) decreases blood sugar
(C} constricts blood vessels
([} stimulates lactation

Who had played key role in the formation of Lokpal
bill in India ?

(A) Vipin Hazarika (B) Anna Hajare

(C) Baba Amte () Medha Patekar

An object which absorbs all colours and reflects
nome appears :

(A} white (B) grey /
{O) blue ) black /™

i -\'\'\.\_ ..\-

called : \ bt . *-. )
{A) Phototropic (B) Hydmfmpic .

(C) Phototactic () 'I'lwrmr.'rtnullr

Head office of coca cola mmpahg‘as u*u

(A} New york B)- He‘mlmﬂr

() Atlanta I[Ef} ﬁm‘ﬁa

Plant genetic mater m'*ﬁ.‘ﬁene-ﬂank' is preserved

at —196°C mJ{qmd nifrogen as

(A) L;Efd]mg Tﬂimé‘rﬁtem

(B) mamt‘n H‘Eﬂ f-uﬁ'}r:l

() Ee_;_m}umseed (high moisture)
O i

E‘Lass isan allov of :

{A} Cu, AlandZn (B) CuandSn
J:le Cuand Zn (D) Aland Mg

C5-2013/Page20

125.

126,

127.

128,

C. K. Naidu Life time achievement award 2013 is
Fivento:

(A) Kapil Dev (B) lmran Khan

(O Sunil Gavaskar ({0} M.S5.Dhoni

Flowers emit fragrance to : |
(B) drive aWwiIlea J
¥ perfu:tm ﬂﬂ‘ H{E above

'H. .-"'

(A) purify air
{Q) attract insects

The national anthem was ﬁrht ﬂngm the year 1911
at the Annual sess-mn wl lh‘E Jndlan MNational

Congress held 1t RN

(A) Pune % ;_Mumbai

(O Kolkata ™/ (D) Lucknow
LN N

Rectified $piritis;

[A} 95% eﬂw’lﬂmhﬂi
[Bj l,ﬂ[i“'ﬁ.i&nyl aleohol
C} methylatec[ spirit

. 1ﬂ.__.unmm* indine

I = -"'\\
1_”29;:_

5 R [A) Polyamide

(O} Polyethylene

i

g

The locomotion of insects to the sourﬁe-ﬂf\‘lghhs I

130,

131.

132.

133.

N
1

Mylon is made up of :

(B) Polyester
(L) Polypropylene

Sweat contains waterand ____ .
{A) Citric acid (B} Lar tic acid
(O Salt (D) Vinegar

The splitting of white light into its components is
dueto:

(A) reflection
(C) transmission

(B) refraction
(0 dispersion

How many bones are there in anewly born infant ?
fA) 206  (B) 230 () 280 (D) 300

Radioactive materials should be kept in the
container made of :

(&) Fe
Q

(B Al
(D) Steel

010 KG 2



134,

135.

136.

137.

138.

139,

140, Which Articl Constitution empowers
the Parlia late right of citizenship ?
(A) 8 B) Article9
(C) ,@k&i (D) Article11
14%./... %éﬁt\ of the following devices is generally used to
thedlemultiple choice questions 7
(A) OCR (B) OMR
(C) MICR (D) Bar Code Reader

www.eenadupratibha.net

The purpose of devaluation is to :
(A) belittle foreign currencies
(B) encourageexports

(C) discourage exports

(D) encourageimport

Which of the following prevents bleeding of gums 7
(A) Ascorbicacid  (B) VitaminB
() Nicotinamide (D) Thiamine

Who among the following organised the “ All India
Depressed Classes Association.” in colonial
India ?

(A) M. K. Gandhi (B) Jyotiba Phule
(C) Pandita Ramabai () B.R Ambedkar

The state operates through
(&) Political Party  (B) Party President
() Government () President

A small drop of oil spreads over water because : d'\\’r

(A) oil has a higher surface tension
(B} water has a higher surface tension
(C) oil has a higher viscosity

(D) water has a higher viscosity é\\

o

@ during

N

Radiations which is no

radioactivity is {6" >
(A) arays .m@
() yrays @ e rays

142. Name the country where the first Industrial

N

Revolution took place:
(4) America (B) Great Britain
(C) Germany (D) France
\V2
143. Imperial Bank was constituted in the year:
(4) 1930 (B) 1935 (O 1955 @
144. The highly populated city in India is~
(A) Chennai (B) Delhi
(©) Mumbai (D) Kolkata O
"
145, Which of the fnunw?smwwmg Fold
Moutains’
(A) Aravallis ;\\ﬁ; ris
(O Himalay#: yindhyas
146. Michu[jg\’_ ould be called a “Secular”
state ?

(A ich follows a particular religion

(B) e stal which is anti-religion
fhe state which does not discriminate
/* een religions

Jhe state which accepts all religions as
religions of state.

discovered the sea route to India ?
) Vasco-da-gama  (B) Columbus
(O Magellen (T Barto-lomev-Dias

Which of the following article of TPC is related
ko unnatural sex ?
(A) 370 (B) 374 (&) 376 Dy 377
149, The sepoy mutiny of 1857 occurred during the
Governor Generalship of :
(A) Lord Dalhousie
(B) Lord Lytton
(C) Lord William Bentinck
(D) Lord Canning
150. By default, to run an application through mouse,
which one of the following has to be done ?
" (A) Right click (B) Leftclick
(C) Single click (D) Doubleclick

-000-
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